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Section A:

Reading Comprehension

In this section, there are three passages, each with 5 questions. Read each passage carefully. Then choose
the best option (a, b, ¢, or d) to answer the questions under the passage. Choose your answer only based
on the information in the passage.

Passage 1

As healthcare systems across the globe continue to experience persistent and turbulent changes, the
appeals and opportunities for healthcare professionals, especially nurses, to provide effective and
visionary leadership to address the challenges and consequences of system reform have never been
greater. Economic constraints that trigger demands for new models of care with skills, leading to a
reduction in costs, are significant in many countries and contribute to a climate of increased
managerialism that promotes efficiencies at the expense of positive transformative changes in care
quality. Ongoing concerns about nurse and leader shortages along with complaints of overloaded
and disenchanted nursing workforce point to the importance of desirable and productive work
environments in sustaining the nurses' health and well-being. Despite the widely recognized
importance of leadership in creating healthy work environments, there is much debate in the
literature as to what constitutes effective leadership in a context of these dynamic workplace
challenges. Effective leadership practices to address these challenges must be informed by current
empirical findings of the effects of nursing leadership styles on nurses' outcomes.

131 - According to the passage, the nurses' health and prosperity depend on the .......... .
a. favorable and productive work settings
b. atmosphere of increased managerialism
c. needs for innovative models of skillful care
d. existimg worries about nurse shortages

132 - Which of the following is lost as a result of overreliance on increased managerialism?
a. skills-based and new models of health care
b. promotion of efficiency in health care quality
c. constructive measures to enhance care quality
d. economic limitations which reduce the costs

133 - The relevant studies on effective leadership in challenging workplaces are .......... .
a. really indisputable
b. rather inconclusive
c. highly convincing
d. mainly positive

134 - According to the passage, a successful leader in nursing should .......... :
a. recognize the significance of well-being at the expense of healthy work settings
b. significantly contribute to to the shortages and complaints of nursing workforce
c. efficiently contribute to a climate of increased managerialism
d. know the recent literature on how leadership styles affect the nurses' outcome

135- According to the passage, effective leadership in healthcare systems are mainly designed
10 e -
a. recognize positive transformative changes in care quality
b. provide job opportunities for healthcare professionals
c. address the challenges and consequences of system reform
d. restrict demands for new models of health care
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Passage 2

Thirty years ago, infectious diseases were seemingly on the decline. Tuberculosis was defeated,
smallpox was about to be eradicated, sexually transmitted diseases could easily be treated, and
other afflictions of mankind, such as malaria, were expected to disappear one day. Some experts
hilariously announced that we would soon be able to close the book of infectious diseases once and
for all. Of course, that was before the beginning of AIDS in 1981, and before the discovery of the
hepatitis C virus, as well as many other viruses capable of causing severe diseases in human.

A quick look at the history of medicine and medical sciences would have sufficed to understand
that infectious diseases have accompanied humans ever since they opted for a sedentary lifestyle.
While today we are better prepared to prevent and fight off infectious diseases, we are nonetheless
condemned to coexist with them. In a world where overcrowded cities and high morbidity rates
increase the potential for the rapid spread of pathogens, the role of efficient infectious disease task
forces can therefore not be overestimated.

136 - The underlined word ""them' in paragraph 2 refers to .......... .
a. pathogens
b. humans
c. viruses
d. diseases

137 - The writer's purpose by mentioning the spread of AIDS in 1981 was to indicate that .......... s
a. hepatitis C virus was a more dangerous disease than AIDS at that time
b. there were other viruses that human beings had to overcome as well
c. the rise of AIDS accelerated the process of declining infectious diseases
d. having defeated infectious diseases, scientists merely focused on AIDS

138 - The writer of the passage advises the reader .......... infectious diseases.
to prevent and fight off the newly discovered

not to overestimate the means to fight against

not to prepare themselves for a lifestyle with

to opt for a sedentary lifestyle to eradicate

o op

139 - Overcoming tuberculosis is one of the examples mentioned to show that .......... :
tuberculosis and smallpox are almost similar to each other

human beings have entirely overcome infectious diseases

infectious diseases of the time were supposed to be under control

scientists and doctors were far from defeating infectious diseases

ae o

140 - Medical history provides evidence on the .......... -
a. link between infectious diseases and a lifestyle with less physical activity
b. better preparation of human beings to fight against infectious diseases
c. sufficiency of human understanding of the infectious diseases
d. preference of human beings for choosing a sedentary lifestyle




-
Passage 3

To choose the best treatment option, the patients spend considerable time communicating with their
insurance companies to determine the extent of their coverage, ensure that their treatment choice receives
proper authorization, and interpret the bills as they arrive. All these activities must be accomplished while
they cope with the fear, fatigue and nausea associated with their diagnosis and treatment. Moreover,
patients often face an overwhelming volume of fragmented information, making it difficult for them to
gain a proper overview and understand its relevance and implications for their many health-related
decisions. A tool or system that highlights the multiple contexts of personal health information could
facilitate different understandings of the same information. Accommodating different data formats into
the same system has thus become the need of the hour and everyone seems to be working hard on
developing newer, advanced electronic systems that can handle the increasing complexity. It is
anticipated that when developed, these advanced systems will persist for many years to come.

141 - The passage tends to .......... the patients face in benefiting from their insurance in choosing
the optimal treatment plan.
a. highlight the obstacles
b. underestimate the difficulties
¢c. exaggerate the problems
d. downgrade the complexities

142 - Which of the following is correct about the electronic health systems?
a. Their complexity will soon be resolved by insurance companies.
b. They tend to complicate the fragmented health information.
c. They will be soon replaced by insurance companies.
d. They can ease up our understanding of health-related information.

143 - Patients difficulty in gaining a suitable overview of their health decisions is mainly due to
ThE vurversrss of the fragmented information.
a. huge size
b. ambiguity
c. complexity
d. unified nature

144 - The underlined word "its" in the passage refers to .......... ;
a. information relevance
b. proper overview
c. overwhelming volume
d. fragmented information

145 - The passage considers the need for integrating the data by .......... a unified system.
ignoring the fragmented information to achieve

incorporating different pieces of information into

fragmenting additional information for

using traditional models to create

e o

Section B:

Vocabulary Items
Read sentences 146 to 160 carefully. Then choose the best option (a, b, ¢, or d) to complete the blank
space in each question.

146 - Managers should be .......... for enhancing the quality of care offered to the public as their
main priority.
a. equivocal
b. reciprocal
c. accountable
d. invulnerable
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147 - Scientific collaboration at international levels can entail benefits which may be difficult

10 cosreaines at the national level.

a. constrain

b. restrain

c. attain

d. detain

148 - Her performance was carefully .......... by the police for some clues before attending the
interrogation meeting.
a. sustained
b. scrutinized
c. perpetuated
d. precipitated

149 - Apparently scientists have found a novel way to .......... obesity by the manipulation of the
genes responsible for weight gain.
a. resolve
b. strive

c. revolve
d. thrive

150 - In response to the premium they get, the insurance company should duly .......... hospitals for
the services they provide for patients.
a. replicate
b. reimburse
c. penalize
d. retaliate

151 - Some physicians nowadays tend to resort to any means o .......... their income, with little
attention to the harm that this could cause to their society.
a. deteriorate
b. curtail
c. augment
d. deflate

152 - My students this year are not good at chemistry; they have just gained
SOME c.vvenenee knowledge of the field.
a. rudimentary
b. complimentary
c. sophisticated
d. complicated

153 - A bowel........... occurs when something blocks the patient’s intestine.
a. induction
b. obstruction
c. evacuation
d. purgation

154 - Many HIV-positive patients prefer not to talk about their disease as they find consulting
with others .......... .
a. embarrassing
b. embracing
c. granulating
d. gratifying
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155 - The new strains of the virus are more resistant and .......... , S0 more potent medications are
needed to contain their spread.
a. feeble
b. meager
c. virulent
d. attenuated

156 - As part of its objective, traditional medicine aims to .......... the internal balance of the body
by inducing natural sedative processes.
a. distort
b. complicate
c. restore
d. resemble

157 - There was a/an .......... discipline in the conference events; indeed, they were very efficiently organized.
a. admirable
b. offensive
c. bizzare
d. weird

158 - Many vitamins cannot be .......... by the body itself and must be obtained from the diet or
dietary supplements.
a. synthesized
b. consumed
c. expelled
d. excreted

159 - Good nutrition is essential for both normal body .......... and the recovery from illnesses.
a. dwindling
b. functioning
c. disintegration
d. decomposition

160 - The ministry of health .......... the physician's medical license due to his repeated violations of the law.
a. revoked
b. revived
c. reiterated
d. reverberated

Section C:

Grammar Questions
Read questions 161 to 170 carefully. Then choose the best choice (a, b, ¢, or d) to complete the blank
space in each question.

161 - The research committee of the university recommended that the researcher .......... anything
about the new findings until his study is over.
a. did not say
b. not to say
c. not say
d. does not say
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162 -

163 -

164 -

165 -

166 -

167 -

168 -

169 -

170 -

=
If they .......... the severely injured and traumatic patient to the hospital in the golden hour,

these severe complications would not have developed.
a. would bring

b. had brought

¢. have brought

d. would have brought

It was reported that .......... of getting the deadly disease, many people followed the protocol
set by the health officials.

a. frightening

b. are frightened

c. being frightened

d. having frightened

I’m sorry I’m late. You .......... waiting for a long time.
a. should have been

b. must have been

¢. need to be

d. could be

According to Jack’s coach, he .......... hard for over five years before he achieved a new world record.
a. has been practicing

b. had been practicing

¢. has practiced

d. is practicing

All nurses are concerned about the patients .......... transferred to the intensive care unit
(ICU) of the hospital since morning.

a. being

b. are being

c. have been

d. had been

The exam finished at 10:00, and, to my surprise, Alex was the first student .......... his exam paper.
a. who will have submitted

b. who submits

¢. Submitted

d. to submit

Scientists have discovered a new method which has proved .......... in the prevention and
treatment of many infectious diseases.

a. being success

b. successfully

c. successful

d. succeed

The research team is going to have the blood tests .......... in a modern laboratory.
a. analyzed g
b. be analyzed

c. been analyzed

d. to be analyzed

Many professors consider .......... when a student publishes a paper without their permission.
it an offense

as an offense

offensive it

offensive
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